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T e B El A% | PR | 4% | BB | L% | 2% 33 @ Er A% | R BE | L% | 2%
= RBTINA
in- 8 &
Albumin- # 3 94.33%| 96.02%| 95.01%| 98.44%| 96.59%| 96.73%| 95.94% 88.52%~100.00% 0 o 0 0 o 0
Albumin(BCG) 7k 195 85 129 104 129 19 661
. P Albumin(BCG) < 5 % 3.90 388| 433| 393 389 394| 398
Albumin(BCG)Z3.5F A4 1 90.08%| 89.26%| 91.03%| 91.09%| 89.45%| 89.67%| 90.16%| & >84.78% 0 0 o) o) o) o)
Albumin(BCP) 7k 6 2 6 2 1 17
Albumin-= 35 (BCP) 3.80 370 354| 366 390  3.70
Albumin(BCP)=3.0F 4" 1 95.61%| 96.79%| 90.69%| 90.00% 99.10%| 93.98%| 1 @ > 85.45% 0 0 o) - o) o)
T £ 19 5%
o |URR@O2 5357 B 3oy | R 04.26%| 95.80%| 94.96%| 98.50%| 96.18%| 96.4206 95.82%| & FF B | ggazee-100000 | O | O | © °o 1 o ©°
Kt/V) URR- $508 75.46 7505 | 7422| 7444| 7424| 7353| 7473
URR=65%7F A 1* 97.05%| 96.36%| 96.81%| 96.96%| 96.64%| 95.64%| 96.77%| 1 > 88.95% o) o) o) o) o) o)
& & » P
o | Hb(o2: srsom b 3~ ik Hb-% # 3 94.40%| 96.30%| 95.05%| 98.58%| 97.20%| 96.65%| 96.19%| F ZF B | 83.61%-100.00% o o o o o o
Hct) Hb-I ¥5 & 10.52 1046 | 10.67| 10.46| 1055 1039 | 1053
Hb> 8.5 4" 04.60%| 94.220%| 94.66%| 95.03%| 95.320%| 93.45%| 94.73% > 88.69% o) o) o) o) o) o)
. BREFLELH= F
5 7 N 211 1.89 2.33 2.18 253 2.68 222 =2.50 0 0 > > 0
A|EF A : e
(4/=7 ) BHRFRz1E2 7= 3 2.82 277 200 278 279 278|281 =2.77 > > > > >
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Albumin-£ # 08.16%| 99.12%| 95.46%| 94.81%| 98.36%| 99.26%| 97.32% 88.76%~100.00% 0 0 0 o) o) o)
Albumin(BCG) 7k 25 19 22 17 15 4 102
. & F 9 B Albumin(BCG) < 5 & 3.81 381 371 375 375 363 377
Albumin(BCG)Z3.5F 4 84.65%| 82.65%| 78.84%| 83.70%| 82.85%| 78.36%| 82.57% >79.87% 0 o) < o) < o)
Albumin(BCP) i 4 1 4 9
Albumin--t 5 & (BCP) 3.53 333  3.39 3.51
Albumin(BCP) = 3.0F 4" 92.57%| 100.00%| 85.71% 91.95% >81.41%
4l .59%~100.009
;| Hb(02 #gr ik Hb-% # 5 08.60%| 98.96%| 95.3206| 94.46%| 98.62%| 98.65%| 97.47% 88.59%~100.00% o ©
Hct) Hb-T $5 i 10.39 1029| 1001| 1011| 1013 1012 1021
Hb> 8.5F A 1t 89.59%| 90.13%| 88.45%| 86.23%| 87.99%| 86.30%| 88.64% >87.17% 0 o) o) o) < o)
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p D]l SR _F R s 9 9 (Albumin)
R HE =ik L& HE 521 15 5 HE 2F
1074 BrerrE 185 85 133 102 134 19 658
Albumin-f 7% 97.83%| 98.17%| 98.40%| 97.97%| 98.50%| 96.83%|  98.37%
Albumin(BCG)Z £ 179 82 126 98 133 18 636
Albumin(BCG)F-+9{# 3.8852 3.8622 3.9017 3.8945 3.8519 3.8822 3.8796
Albumin(BCP) 5 &1 8 5 12 7 2 1 35
Albumin-3F:+5{%(BCP) 3.6256 3.5139 3.3800 3.5868 3.4965 3.2286 3.4904
Albumin(BCP) =3.0 Fi 431 96.03%|  92.31%|  93.64%| 96.52%| 97.77%| 87.18%|  94.52%
1084 B e 193 88 140 105 131 18 675
Albumin-f§ % 97.71%| 98.19%| 98.35%| 98.46%| 98.37%| 96.88%|  98.37%
Albumin(BCG)Z 187 85 133 102 131 17 655
Albumin(BCG)F-+9(# 3.8995 3.8867 3.9316 3.9155 3.8773 3.9135 3.9017
Albumin(BCG) =3.5 Fi 43 94.30%| 94.13%| 9455%| 94.98%| 9450%| 93.95%|  94.50%
Albumin(BCP) 5§ 11 6 9 5 0 1 32
Albumin-3F$5g (BCP) 3.6595 3.7068 3.3651 3.5448 0.0000 3.2254 3.5115
Albumin(BCP) =3.0 Fi 431 9751%|  95.36%| 92.17%|  96.12% 0.00%| 84.38%|  94.57%
10945512 | 189 88 132 102 130 18 659
Albumin-f % 96.67%| 97.45%| 95.38%| 98.35%|  98.00%|  95.84%|  97.15%
Albumin(BCG)Z 181 85 125 100 130 17 638
Albumin(BCG)F-+9(# 3.9254 3.9055 3.9637 3.9112 3.9065 3.9292 3.9228
Albumin(BCG) =35 Fi 43 90.45%|  89.65%|  90.76%|  90.55%|  90.64%|  90.45%|  90.43%
Albumin(BCP) 57 % 8 3 7 3 0 1 22
Albumin-315g (BCP) 3.7459 3.6851 3.3683 3.7773 0.0000 3.7476 3.5826
Albumin(BCP) =3.0 Ei 43 95.32%|  93.48%|  87.98%|  95.20% 0.00%|  95.15%|  92.02%
10945527 |befrsy 193 89 134 103 131 19 669
Albumin-fi s % 97.78%|  97.25%|  95.79%|  98.43%|  98.31%|  9595%|  97.56%
Albumin(BCG) 5 187 86 129 101 131 18 652
Albumin(BCG)F+4(# 3.9248 3.9012 3.9501 3.9325 3.8914 3.8829 3.9194
Albumin(BCG) =35 Fi 43 90.08%|  89.34%|  90.41%|  90.80%|  89.61%|  89.65%|  90.04%
Albumin(BCP) 57 % 6 4 5 2 0 1 18
Albumin-3F15g (BCP) 3.7755 3.7706 3.5837 3.7397 0.0000 3.9480 3.7078
Albumin(BCP) =3.0 Ei 431 96.24%|  95.32%|  93.03%|  93.97% 0.00%|  97.06%|  94.77%
1094 532 |FZFTEL 199 89 135 103 132 16 674
Albumin-f 2 L% 97.85%|  98.24%| 97.41%| 98.42%| 98.24%| 87.34%|  97.79%
Albumin(BCG)Z ¥ 192 86 131 102 132 15 658
Albumin(BCG)F (& 3.9046 3.8922 3.9205 3.9097 3.8732 3.9020 3.9004
Albumin(BCG) =35 F /7t 90.05%| 89.35%| 89.49%| 90.49%| 89.54%| 90.60%|  89.82%
Albumin(BCP) 5 & 7 3 4 2 0 1 17
Albumin-3Z+5{E (BCP) 3.7502 3.6572 3.4915 3.4755 0.0000 3.9000 3.6544
Albumin(BCP) =3.0 B 43t 9450%| 96.01%|  90.49%|  90.32% 0.00%|  98.10%|  93.44%
10945542 |bzFren 199 89 136 104 129 19 676
Albumin-f5 2z L% 97.50%| 9458%| 96.21%| 98.39%| 96.79%| 96.71%|  96.88%
Albumin(BCG)Z # 192 88 132 103 129 18 662




I BHDL RSt Y KR

# v % (Albumin)

HAME | 21k dbE & 5] =5 RE 2F
Albumin(BCG)3F5{H 3.9384 3.9286 3.9539 3.9451 3.9025 3.9627 3.9346
Albumin(BCG) =357 F47LL 91.35%| 90.71%|  90.81%|  91.80%| 90.57%|  91.20% 91.07%
Albumin(BCP)Z7 7 1 4 1 0 1 14
Albumin-3F#5{g (BCP) 3.7596 3.4906 3.4879 3.7138 0.0000! 3.6640 3.6505
Albumin(BCP)=3.0 H43EE 95.93%|  92.45%|  91.49%|  84.48% 0.00%|  93.69% 93.82%

1094 BRI 202 92 139 106 132 20 691
Albumin-fa & FE% 97.87%| 98.33%|  98.15%|  98.49%|  98.20%|  96.86% 98.33%
Albumin(BCG)Z 196 90 136, 105 132 19 678
Albumin(BCG)3F5{H 3.9066 3.8921 3.9270 3.9088 3.8763 3.9065 3.9026
Albumin(BCG) =35 F457LL 9459%|  94.18%|  93.56%|  94.50%| < 9452%|  94.61% 94.32%
Albumin(BCP)Z7 10 4 7 3 0 1 25
Albumin-3F#5{g (BCP) 3.7362 3.6494 3.4506 3.6890 0.0000! 3.7634 3.6216
Albumin(BCP)=3.0 H43EE 97.59%|  96.06%| 93.85%|  94.57% 0.00%|  97.56% 95.74%

1105512 | Bepri 201 87 134 105 129 20 676
Albumin-f& & FE3% 94.33%|  96.02%|  95.01%|  98.44%|  96.59%|  96.73% 95.94%
Albumin(BCG)ZZ 195 85 129 104 129 19 661
Albumin(BCG)F#5{H 3.8959 3.8804 4.3344 3.9298 3.8894 3.9448 3.9772
Albumin(BCG) =35 F47LL 90.08%| 89.26%| 91.03%|  91.09%|  89.45%|  89.67% 90.16%
Albumin(BCP)Z 8 6 2 6 2 0 1 17
Albumin-3F-4{g (BCP) 3.8035 3.6986 3.5396 3.6600] 0.0000] 3.8973 3.6990
Albumin(BCP)=3.07 H43EE 95.61%|  96.79%|  90.69%|  90.00% 0.00%|  99.10% 93.98%
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Ymak c 20 1958 ~ At 1986 -
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541D

Y AR - F 9 39 (Albumin)

B HE G EERb: Wb EE2hT ==
1074 B FT 19 76 157 406 658
Albumin-f& 232 98.28% 98.06% 97.25% 98.27% 98.37%
Albumin(BCG) 5 #4 18 68 144 406 636
Albumin(BCG)F4 {5 3.8906 3.8771 3.8421 3.8913 3.8796
Albumin(BCG) =3.5 E 43 94.30% 92.64% 91.30% 94.46% 93.77%
Albumin(BCP) 52 # 1 11 15 8 35
Albumin->F#4{¢ (BCP) 3.3730 3.5282 3.4511 3.6817 3.4904
Albumin(BCP) =3.0 Ei 43 96.05% 94.87% 93.53% 95.66% 94.52%
1084 BFT 19 73 165 418 675
Albumin-if 7% 97.98% 97.96% 97.12% 98.41% 98.37%
Albumin(BCG) 5 #4 19 64 154 418 655
Albumin(BCG) P45 3.9168 3.8947 3.8559 3.9180 3.9017
Albumin(BCG) = 3.5 E43LE 95.08% 94.36% 92.01% 94.92% 94.50%
Albumin(BCP) 52 # 1 11 13 7 32
Albumin->F#4{# (BCP) 3.4020 3.5452 3.4684 3.7545 3.5115
Albumin(BCP) =3.0 B 43LE 92.13% 95.96% 92.81% 96.15% 94.57%
10975512 (R 19 73 156 411 659
Albumin-if 7% 98.20% 98.00% 94.79% 97.35% 97.15%
Albumin(BCG) 5 #4 19 64 146 409 638
Albumin(BCG) P45 3.9415 3.9077 3.8786 3.9412 3.9228
Albumin(BCG) = 3.5 E 43 92.19% 90.22% 87.42% 91.25% 90.43%
Albumin(BCP)Z 8 0 9 10 3 22
Albumin-3F:#4{% (BCP) 0.0000 3.6123 3.5180 3.7787 3.5826
Albumin(BCP) =3.0 B 431 0.00% 92.45% 90.83% 96.95% 92.02%
10975522 (B 19 72 161 417 669
Albumin-fi a3 97.97%) 97.32% 96.76% 97.79% 97.56%
Albumin(BCG)Z & 19 64 152 417 652
Albumin(BCG)FH5{E 3.9320 3.9137 3.8830 3.9326 3.9194
Albumin(BCG) = 3.5 E 43 91.17% 89.66% 87.31% 90.98% 90.04%
Albumin(BCP) 52 # 0 8 9 1 18
Albumin-3F:#4{% (BCP) 0.0000 3.6776 3.7300 3.8858 3.7078
Albumin(BCP) =3.0 B 431 0.00% 94.65% 94.58% 98.23% 94.77%
1094537 |Bepni 19 73 158 424 674
Albumin-fi & L% 97.97%) 97.99% 96.35% 98.13% 97.79%
Albumin(BCG) 5 #; 19 64 152 423 658
Albumin(BCG)-FF{E 3.9224 3.9004 3.8652 3.9095 3.9004
Albumin(BCG) =3.5 F 57k 91.05% 89.91% 87.02% 90.62% 89.82%
Albumin(BCP)Zz 8 0 9 6 2 17
Albumin->F#4{£ (BCP) 0.0000 3.6306 3.6915 3.9949 3.6544
Albumin(BCP) =3.0 Fi 43 0.00% 92.64% 95.29% 100.00% 93.44%
10975542 e 19 73 156 428 676
Albumin-f& 2 L% 98.11% 97.16% 94.23% 97.45% 96.88%
Albumin(BCG) % 8 19 64 152 427 662




I RHDL iR 4T &K - e 3o (Albumin)

HARE HE B2 SR HIEEERT 2T 22
Albumin(BCG) V4 1E 3.9121 3.9223 3.8957 3.9582 3.9346
Albumin(BCG) =357 11 57t 91.18% 90.69% 88.70% 92.11% 91.07%
Albumin(BCP) 58 0 9 4 T 4
Albumin--F & (BCP) 0.0000 3.6383 3.6225 3.9892 3.6505
Albumin(BCP) = 3.0, 1 /7 EL 0.00% 93.93% 91.53% 100.00% 93.82%

1094 BT 19 73 165 434 691
Albumin-i & L% 97.88%) 97.85% 97.18% 98.43% 98.33%
Albumin(BCG) 8 19 65 160 434 678
Albumin(BCG) 5 1E 3.9050 3.8022 3.8607 3.9218 3.9026
Albumin(BCG) =357 [ 57t 94.98% 93.83% 92.02% 94.90% 94.32%
Albumin(BCP) 58 0 9 10 6 25
Albumin--F 2 & (BCP) 0.0000 3.6143 3.6098 3.8618 3.6216
Albumin(BCP) = 3.0, 1 /7 EL 0.00% 95.32% 95.70% 97.73% 95.74%

L1101 [RATR 19 71 159 427 676
Albumin-T i FL 98.03%) 94.57% 95.08% 96.36% 95.94%
Albumin(BCG)Z 8{ 19 62 154 426 661
Albumin(BCG) FH (A 3.9096 3.9003 3.8686 7.0603 3.9772
Albumin(BCG) =357 11 571 90.44%) 89.69% 87.69% 91.23% 90.16%
Albumin(BCP) 58] 0 9 5 3 17
Albumin-~F- (& (BCP) 0.0000 3.6363 3.8894 3.8213 3.6990
Albumin(BCP) = 3.0 F157FE 0.00% 92.85% 97.49% 95.74% 93.98%
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(3)(BCCGHRERE) =3.5H 7rtb=0r B AHIE Albumin(BCGE) = 3.5gm/dl . N B/ M R EATR ACHIEZ Albumin(BCGIE) A B - 45

fRmt © &

1958 ~ 4F 1 1986 -

(4)(BCPHali %) = 3.08 77 bb=7351% AN & Albumin(BCP/Z) = 3.0em/dlz A B/ &M R ZATR A EZ Albumin(BCPIE) A - 45
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i RHD2 B 4T _ARE § B 472 -IRR

HAR] HH t-—aln (n & & = KIE E)

1074¢ B 185 85 133 102 134 19 658
URR-f & EE% 97.73%| 97.97%| 98.36%| 97.95%| 98.39%| 96.73%|  98.29%
URR-FEH{E 75.2763  75.1084] 745604] 74.7495] 74.3754] 74.4141] 74.8410
URR=65%_ & 47EE 08.73%| 98.63%| 98.96%| 98.69%| 99.02%| 98.79%|  98.84%

1084F R 193 88 140 105 131 18 675
URR-f & % 97.68%| 98.13%| 98.32%| 98.44%| 98.32%| 96.78%|  98.34%
URR-FEH{E 75.6150] 75.2160] 74.5195] 74.8042] 74.5127] 74.3901] 74.9695
URR=65%_" & 47EE 08.85%| 98.63%| 98.71%| 98.92%| 98.96%| 98.41%| 98.85%

1094E 58178 |Fefrty 189 88 132 102 130 18 659
URR-fG & EE% 96.56%| 97.27%| 95.29%| 98.28%| 97.82%| 95.84%|  97.03%
URR-FEH{E 75.4156]  75.0494]  74.4584]  74.4899 74.4433| 74.0264] 74.8147
URR=65%_ 5 47EE 96.60%| 96.72%| 97.24%| 96.84%| 96.80%| 96.60%| 96.82%

10945527 |E 193 89 134 103 131 19 669
URR-fG & L% 97.76%| 97.04%| 95.77%| 98.38%| 98.12%| 95.73%| 97.48%
URR-3ZH4{E 75.4846]  75.4020] 74.6320] 74.8860] 74.7016] 74.6925] 75.0527
URR=65%_ & 47EE 96.78%| 96.86%| 97.07%| 97.19%| 96.91%| 96.75%|  96.94%

1094553 |E 199 89 135 103 132 16 674
URR-fG & L% 97.73%| 98.04%| 97.36%| 98.39%| 97.91%| 87.07%| 97.65%
URR-3Z4{E 75.5057]  75.4204]  74.7262]  75.0307] 74.7998] 74.9339] 75.1533
URR=65%_ 5 47EE 97.12%| 96.87%| 96.85%| 97.21%| 96.92%| 97.72%|  97.03%

10945547 |E s 199 89 135 104 129 19 675
URR-fG & L% 97.35%| 94.41%| 96.16%| 98.35%| 96.60%| 96.55%| 96.76%
URR-3Z4{E 75.4463  75.1321| 745275 74.6417] 74.4231] 73.9968] 74.8716
URR=65%_ 5 47EE 96.96%| 96.50%| 97.06%| 97.12%| 96.88%| 96.53%| 96.91%

1094F. RN 202 92 139 106 132 20 691
URR-fG & L% 97.81%| 98.22%| 98.12%| 98.44%| 98.15%| 96.82%|  98.28%
URR-Z4{E 75.3754]  75.1186| 74.4568] 74.6377] 74.4568] 74.2199] 74.8477
URR=65%_ 5 47EE 08.78%| 98.63%| 98.75%| 98.92%| 98.96%| 98.43%| 98.81%

1104F55 13 [ 201 87 134 105 129 20 676
URR-fG & L% 94.26%| 95.89%| 94.96%| 98.50%| 96.18%| 96.42%|  95.82%
URR-Z4{E 75.4649  75.0522 742161 74.4448] 74.2369] 73.5334] 74.7255
URR=65%_ 5 47EE 97.05%| 96.36%| 96.81%| 96.96%| 96.64%| 95.64%| 96.77%
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Q) EHIE =R URRA BR (E 7 4R/ B SR URRARBSE K A0 48288 - FiZ4mat © = © 2036 ~ 4 1 2056 -

(3)=65% 2 F 53 th=7r BHE A HIEURR = 65% 2 N B/ M MUK ENTR AHIEURR NS - f5IE4RTE © 2= 1 1963 ~ ¢
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I EAD2 sS4 FE § 5490 -URR

HARY HHE B, ik eE e A S B2 22
1074F Brepe 19 76 157 406 658
URR-f& & L% 98.12% 97.83% 97.17% 98.22% 98.29%
URR-EH({H 74.2690 74.6240 75.0172 74.9783 74.8410
URR=65%_" 5 57LE 98.70% 98.46% 98.67% 98.89% 98.84%
1084F Brepie 19 73 165 418 675
URR-f& & L% 97.87% 97.89% 97.10% 98.37% 98.34%
URR-EH{H 74.0861 75.1184 74.9784 75.0610 74.9695
URR=65%_" 543 LE 98.79% 98.56% 98.58% 98.88% 98.85%
10945517 |Fepns 19 73 156 411 659
URR-f& & L% 97.83% 97.83% 94.72% 97.28% 97.03%
URR-EH({H 73.8672 74.8276 74.9987 74.9139 74.8147
URR=65%_" F43LE 96.55% 96.42% 96.71% 97.07% 96.82%
10945527 | 19 72 161 417 669
URR-fG &% 97.81% 97.26% 96.72% 97.68% 97.48%
URR-EH{H 74.0756 75.0962 75.2041 75.1487 75.0527
URR=65%_" F43LE 96.55% 96.79% 96.90% 97.09% 96.94%
10945532 |bfEy 19 73 158 424 674
URR-f& &% 97.40% 97.82% 96.28% 98.03% 97.65%
URR-EH{H 74.1555 75.2225 75.2673 75.2561 75.1533
URR=65%_" F43LE 96.72% 96.90% 97.04% 97.13% 97.03%
10945547 |Fepns 19 72 156 428 675
URR-f& &% 98.02% 96.94% 94.16% 97.35% 96.76%
URR-EH{H 73.7227 74.8247 74.9650 75.0643 74.8716
URR=65%_" F43LE 96.75% 96.42% 96.67% 97.25% 96.91%
1094F Brep 19 73 165 434 691
URR-G &R 97.83% 97.71% 97.13% 98.40% 98.28%
URR-EHE 73.8233 74.8557 74.9547 74.9827 74 8477
URR=65%_" 5 /7L 98.33% 98.47% 98.64% 98.94% 98.81%
11045812 [P 19 71 159 427 676
URR-fg L% 97.56% 94.47% 95.00% 96.28% 95.82%
URR-EHE 73.6289 74.7195 74.7960 74.9004 74.7255
URR=65%_" 5 77 [ 96.38% 96.56% 96.23% 97.14% 96.77%
sk
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3AFEA |

(DAL= 5 NHAIEURR AU MUREN TR AR - FfERSE - & ¢ 1962 ~ 2+ 1990 -

() P E=FFRURRARER(E < G0/ H S URR IR (E AN 02 S5 % - 54w 5T + &+ 2036 ~ 4 © 2056 -

(3)=65% 2 F 53 th=7r BHE A HIEURR = 65% 2 NB/EME MR ENTR AHIEURR A% - f5IE4RTE © 2= 1 1963 ~ ¢
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ip1RID3 R4 _F otk A-Hb

iz HH sl JblE& & R 5 K =5
1074¢ RIS 184 85 133 101 134 19 656
Hb-i 2 [h % 97.67%| 98.34%] 98.58%] 96.89%] 98.72%| 96.85%| 98.28%
Hb-~F5{E 10.4970] 10.4526] 10.4709] 10.4135] 10.5500f 10.3988] 10.4796
Hb>8.5g/dL ~ F7rth 98.18%| 98.48%] 98.75%] 98.57%] 98.69%| 97.24%| 98.50%
1084F SHEIE S 193 88 140 104 131 18 674
Hb-f 2 [E % 97.68%| 98.39%] 98.54%] 98.60%] 98.61%| 97.47%| 98.52%
Hb-F5{E 10.5334] 10.5193] 10.4777] 10.4601] 10.5433] 10.4177] 10.5077
Hb>8.5g/dL ~ F{7rtE 98.51%| 98.43%] 98.48%] 98.66%] 98.76%| 97.60%| 98.58%
1094512 |BEpT# 189 88 132 101 130 18 658
Hb-i 2 h % 96.78%| 97.86%] 95.49%] 98.61%] 98.15%| 96.47%| 97.36%
Hb-F15{E 10.5810] 10.5421] 10.4319] 10.4582] 10.5417] 10.4143] 10.5160
Hb>8.5g/dL > H 77l 94.81%| 94.75%] 94.52%] 94.89%] 95.55%| 93.72%| 94.88%
1094522 |BEpn# 193 89 134 102 131 19 668
Hb-i 2 E 3% 98.14%| 97.48%] 95.89%] 98.66%] 98.57%| 96.49%| 97.83%
Hb- 35 1{H 10.5250] 10.5044] 10.3983] 10.4820] 10.5973] 10.4322] 10.5041
Hb>8.5g/dL > H 77l 94.63%| 94.41%] 94.27%] 95.27%] 95.71%| 93.48%| 94.82%
1094553 | Bl 199 89 135 103 132 16 674
Hb-i 2 h 3% 98.16%| 98.59%] 97.64%] 98.54%] 98.49%| 88.71%| 98.08%
Hb- 35 1{H 10.6019] 10.5680] 10.5535] 10.5402] 10.6394] 10.6097] 10.5852
Hb>8.5g/dL > H 77l 94.82%| 95.19%] 95.06%] 95.60%] 96.07%| 95.78%| 95.31%
1094542 |BEpT# 199 89 136 102 129 19 674
Hb-i 2 h 3% 97.77%| 94.73%] 96.54%] 98.49%] 97.07%| 97.17%| 97.11%
Hb- 35 {H 10.5979] 10.5975] 10.5356] 10.5494] 10.6875] 10.5712] 10.5953
Hb>8.5g/dL > H 77l 94.79%| 95.39%] 95.08%] 95.58%] 96.34%| 94.17%| 95.35%
1094F AT 202 92 139 105 132 20 690
Hb-t 2 L3 98.13%| 98.63%] 98.46%] 98.66%] 98.36%| 97.51%| 98.58%
Hb-~F-35(H 10.5243] 10.5105] 10.4405] 10.4702] 10.5886] 10.4537] 10.5090
Hb>8.5g/dL~ F47rLE 98.28%] 98.54%| 98.46%] 98.74%] 98.92%| 97.32%| 98.55%
110451 |Bipr# 200 87 133 105 129 20 674
Hb-f 2 L3 94.40%] 96.30%| 95.05%] 98.58%] 97.20%| 96.65%| 96.19%
Hb-~F-35(H 10.5217] 10.4556] 10.6684| 10.4567] 10.5492] 10.3864] 10.5283
Hb>8.5g/dL~ F47rLE 94.60%| 94.22%| 94.66%] 95.03%] 95.32%| 93.45%| 94.73%
st
LERAR © BIrRE R RGN ERERIT RS -

2B EE  PHER KA BB S VPN LR B e -
3AFEA
(DEREEER=7r B NN EHD ABAGME MR BT AR - 15FERSE - & 1 1964 ~ 41 1994 -

Q) P {E = R Hb A B (E ~ 481/ FR SR HbIR SR (E K02 S8 - fe184m5% © 2= © 2037 ~ &5 ¢ 2058 -
(3)>8.5g/dLZ F5 53 Eb=53 B A Hb>8.5g/dL 2 N B NS MEIIRIEA T AHIEHD AR - F51E4m 5% © 2= © 1966

11996 -
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ip1RID3 R4 _F otk A-Hb

HARA HE BEdup, Ei b A S5 2T 2F
1074 [EIE 19 75 156 406 656
Hb-f@ 7 bE % 98.67% 97.25% 97.11% 98.41% 98.28%
Hb-~F+45{8 10.5715 10.5381 10.4348 10.4539 10.4796
Hb>8.5g/dL " 5 57Eh 98.75% 98.56% 97.75% 98.41% 98.50%
1084E e 19 73 164 418 674
Hb-f@ 7 bE % 98.26% 97.93% 97.52% 98.52% 98.52%
Hb->F+5{8 10.6483 10.6088 10.4703 10.4544 10.5077
Hb>8.5g/dL " 5 57Eh 98.88% 98.85% 98.11% 98.31% 98.58%
1095812 (T 19 73 155 411 658
Hb-f@ 7 bE % 98.52% 98.09% 95.10% 97.55% 97.36%
Hb->F+45{8 10.6985 10.6497 10.4845 10.4359 10.5160
Hb>8.5g/dL " 5 57Eh 95.95% 96.18% 94.50% 94.26% 94.88%
109522 |FprE 19 72 160 417 668
Hb-fig i [ 98.51% 97.54% 97.19% 97.95% 97.83%
Hb->5{8 10.6959 10.6841 10.4594 10.4107 10.5041
Hb>8.5g/dL 5 5y EL 96.28% 96.43% 94.11% 94.14% 94.82%
1094E553% i 19 73 158 424 674
Hb-fg & [ 98.41% 98.38% 96.59% 98.34% 98.08%
Hb-5{8 10.7498 10.7272 10.5303 10.5162 10.5852
Hb>8.5g/dL 5 43EE 96.12% 96.28% 94.84% 94.94% 95.31%
1094E 547 (AT 19 73 155 427 674
Hb-fig i 1% 98.58% 97.66% 94.13% 97.59% 97.11%
Hb-5{8 10.7662 10.6828 10.5366 10.5483 10.5953
Hb>8.5g/dL~ 5 5y EL 96.44% 96.12% 94.74% 95.04% 95.35%
1094E e 19 73 165 433 690
Hb-fg i L% 98.27% 98.16% 97.48% 98.64% 98.58%
Hb-35{8 10.7081 10.6373 10.4517 10.4405 10.5090
Hb>8.5g/dL " 5 47Eh 99.06% 98.68% 98.05% 98.40% 98.55%
11051 (s 19 71 158 426 674
Hb-fg i L1325 98.33% 94.37% 95.58% 96.62% 96.19%
Hb-35{8 10.6900 10.6170 10.4125 10.5043 10.5283
Hb>8.5g/dL " 5 47Eh 95.69% 95.83% 93.87% 94.42% 94.73%
st
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DS m R ET _FERF<lE2Z S F

] HE =1t L& HE 21 =1 5 R 2F

1074F TR <L 2 FE T A8 85 37 48 45 47 7 268
BATHE <14 7 485 A 81 3,526 1,819 2,010 1,794 1,976 319 11,438
BT R <LVE 2 IR TR 2.4034] 2.0209] 2.3878] 2.4948] 2.3659] 2.0408] 2.3387

1084F BT RE<UE 2 ZET A8 71 43 52 44 40 9 258
BATHE <14 7 4895 A 81 3,536 1,809 2,167 1,848 2,001 351 11,704
EATRRI<LE 2 RT3 1.9936] 2.3773] 2.3996] 2.3806] 1.9863] 2.4217] 2.2023

1094E 5512 B FTIS A< 2 3BT A8 92 47 64 48 46 6 303
BT R <L 2 489 A8 3,623 1,879 2,242 1,929 2,172 335] 12,174
BT R <LE 2 IR TR 2.5393| 2.5013] 2.8546] 2.4883] 2.1179] 1.7910] 2.4889

1094E 5522 IBMTHSRE<UE 2 FE T A8 80 39 60 38 50 4 271
BT R <L 2 49 A8 3,579 1,771 2,170 1,901 2,174 324] 11,905
BT R <LE 2 IR TR 2.2353| 2.2021] 2.7650] 1.9989] 2.2999| 1.2346] 2.2764

1094E532F [IEMTIERI<1E SET A8 58 41 62 36 36 9 242
BT R <L 49 A8 3,586 1,739 2,179 1,898 2,134 322] 11,849
AT <VE 2 FET R 1.6174] 2.3577] 2.8453] 1.8967| 1.6870] 2.7950] 2.0424

10945542 IBITHSRE<UE 2 FE T A8 83 43 58 51 34 10 279
BT R <L 489 A8 3,674 1,791 2,194 1,916 2,167 302] 12,039
BRI R<LVE 2 IR 2.2591] 2.4009] 2.6436] 2.6618] 1.5690] 3.3113] 2.3175

1094F B R<IEZ JET A8 78 43 61 43 42 7 274
AT <14 2 48555 A 81 3,616 1,795 2,196 1,911 2,162 321] 11,992
AT <VE 2 FE TR 2.1643| 2.3677] 27775 2.2632] 1.9197] 2.2603] 2.2828

11045512 IBHTHS<UE 2 FE T A8 73 33 49 40 51 8 254
BT <L 2 489 A8 3,459 1,748 2,106 1,833 2,016 298] 11,454
BRI R<LVE 2 IR 2.1104] 1.8879] 2.3267| 2.1822| 2.5298| 2.6846] 2.2176

st
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MBI < 4ESET % [ CEHEIRTANT NG E 2 JET (580 CERERIBNT N 142 485 A8 X 100
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¥ R BEREPTAT | R BN T AR R EAT R BT 0 B RIR EERERTAT o AT REAHE - AIDIH e
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DS AT SRR <1#Ez e X
HAR HE BEdup, Ei b A = EE2Hh 2
1074¢ BRI FE <1 2 3BT A8 15 62 67 124 268
BRI R <146 2 450 A8 1,024 2,858 2,345 5,238 11,438
ENTH R <1 FET % 1.4889 2.1606 2.8355 2.3721 2.3387
1084F BT <1 2 FE T A8 14 56 71 117 258
BTG R <14 2 4% A8 976 2,844 2,534 5,375 11,704
BATIF <L 2 JET R 1.4092 1.9692 2.7923 2.1813 2.2023
1094E5E1Z [iEMNTHSR<1E T A ¥ 13 71 63 157 303
EATHSR <14 2 445 A8 960 2,912 2,540 5,792 12,174
BT R<1E IR R 1.3542 2.4382 2.4803 2.7106 2.4889
10955527 LEMISI<1IEZIET A8 16 60 62 133 271
BT < 145 2 485 A8 886 2,817 2,454 5,783 11,905
BTG <14E 2 FE TR 1.8059 2.1299 2.5265 2.2998 2.2764
109553 AR LI<1IE 2 IET A8 12 53 65 112 242
TR < 14E > %805 A8 978 2,804 2,444 5,652 11,849
BTIF <1 2 JET R 1.2270 1.8902 2.6596 1.9816 2.0424
1094EEEAT iEMTHSERI<1E IR T B 19 59 73 128 279
BT <15 > 445% A8 991 2,843 2,529 5,707 12,039
IBATIE <1 2 JET R 1.9173 2.0753 2.8865 2.2429 2.3175
1094F BATIFEI<LIEE 2 FE T A 15 61 66 133 274
BT <15 2 445% A B 954 2,844 2,492 5,734 11,992
IETIF <V 2 JE T 1.5727 2.1361 2.6387 2.3110 2.2828
110F5E1F BERIFL<1IEZIET A8 13 60 68 113 254
TS < LAE . 4855 KBy 1,003 2,726 2,420 5,332 11,454
IEMTIERI<1E 2 FEL & 1.2961 2.2010 2.8099 2.1193 2.2176
st -
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HEHDS i SRR =1E L A

HARA HH =21t Bl i & =R K& 2E
1074 EITISR = 1E 27T A 444 240 293 267 278 41 1,562
BEATHE R = 148 2> 480 A8 17,734 9,538 11,691] 10,299 11,502 1512 62,247
BTG = 1 IR & 25051 25109 250201 25924 2.4169] 2.6951] 2.5093
1084F BT = 1 270 T A 490 259 315 258 201 45 1,657
BT = 14 2 4858 A8 18,443 9,942 11,979] 10,610 11,876 1,606| 64,417
EITIER = 1E R 2.6556] 2.6002| 2.6297] 2.4341] 2.4483] 2.8020] 2.5727
109561 EMTISR = 12295 A8 454 275 335 288 339 48 1,739
FEHTHEE] = 1 5F 2 4498 A8 18,751 10,128 12,178 10,852 12,016 1,665 65,552
EITISR = 1E TR T 24212 27152 27509 2.6539] 2.8212| 2.8829] 2.6529
10945627 MR = 12 3R T A8 441 251 297 275 290 46 1,600
IEMTHS ] = 14 2 4890 A8 19,110 10,299 12,371] 11,006 12,174 1,702| 66,619
BATIRR = VE SR T 23077 2.4371| 2.4008] 2.4986| 2.3821] 2.7027| 2.4017
1094E563F EMTHER = 1EE 3R A8 464 245 277 284 260 49| 1,579
FEHTHEE] = 1 5F 2 F49H A8 19,075 10,274 12,300 10,941 12,104 1,700 66,351
BT = 1E 2 R T % 2.4325]  2.3847] 2.2520] 2.5957] 2.1481] 2.8824] 2.3798
1094E564F BEMTIER = 1EE 3T A8 466 251 321 288 305 39| 1,670
FEHTHEE] = 1 5F 2 8498 A8 19,404 10,427 12,494 11,040 12,360 1,691 67,371
BATIRR = 1E 2 R T % 2.4016] 2.4072] 25692 2.6087] 2.4676] 2.3063] 2.4788
1094E BEATIRR = 1 2 SR T A8 456 256 308 284 299 46 1,647
BENTHR = 14E 2 8898 A8 19,085 10,282 12,336 10,960 12,164 1,690 66,473
BATIRR = 1E 2 SR T 2.3906] 2.4849] 2.4928] 2.5890] 2.4541] 2.6931] 2.4777
1105561 PEMTIER = 13T A8 555 292 365 310 351 48 1,921
BT = 14E 2 8898 A8 19,711 10,545 12,606 11,149 12,578 1,726 68,275
BEATIRR = 1E 2 SR T 28157 2.7691] 2.8954] 2.7805] 2.7906] 2.7810] 2.8136
fHisE -

LB © BIRE R RS AEE I AL - 1584RSE : 5 1 3083 ~ 4 3084
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3AFEA
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DS & REiT SR EzlEL 2 ¥

HAR HE B2 EiEh | MEBbE EE2Hh 2
1074E BN = V2SR T ABL 121 343 345 754 1,562
BEATHE R = 168 2 480 A8 6,025 14,163 11,761 30,368| 62,247

EATIER = 1E R 2.0084 2.4218 2.9355 2.4813| 2.5093

1084E BN = V2SR T ABL 125 355 382 797 1,657
BEATHE R = 148 2 480 A8 6,099 14,247 12,619 31,523| 64,417

BEATIER = 1E R 2.0454 2.4918 3.0273 25267 25727

109FE51E BRI = 1 23T A8 124 329 416 870 1,739
IEMTHS ] = 15 2 4890 A8 6,135 14,303 12,857 32,428| 65,552

IBNTHER = VE R T 2.0212 2.3002 3.2356 2.6829] 2.6529

1094F5E22  |iEMTHERE = 192 2 3B 10 A8 86 335 364 817 1,600
IBEMTHS ] = 15 2 889 A8 6,019 14,517 13,059 33,154] 66,619

IBNTHER = VE 2 R 1.4288 2.3076 2.7873 2.4643] 2.4017

109453 IEISR = 18 23T A8 111 331 367 770 1,579
IEMTHS ] = 15 2 489 A8 6,006 14,427 12,984 33,005] 66,351

BN = 1 22 SET % 1.8482 2.2943 2.8266 2.3330] 2.3798

109E5E4Z  EISER = 182 7350 A8 123 383 379 786 1,670
IEMTHS ] = 15 2 489 A8 6,054 14,697 13,164 33,550 67,371

IBATHER = 1E 2 R T % 2.0317 2.6060 2.8791 2.3428] 2.4788

1094E BN = VEE 22 AR T ABY 111 345 382 811 1,647
IBEMTHS ] = 15 2 889 A8 6,054 14,486 13,016 33,034] 66,473

BN = 1 22 SET % 1.8336 2.3782 2.9310 2.4543|  2.4777

110EE1E  ERIERE = 1 230 A8 119 389 440 976 1,921
TR = 15 2 480 A8 6,114 14,733 13,235 34,296] 68,275

IBATHRR = 14E 2 R L% 1.9464 2.6403 3.3245 2.8458|] 2.8136
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FEPDL S Y &

t fi—i ¢ 3¢ (Albumin)

M HE Eal L& TE B & 15 5% & 2=F
1074 FeRTE 30 20 29 19 17 3 118
Albumin-f§ % 98.87%| 99.34%| 98.99%| 98.58%| 98.87%| 97.96%| 98.90%
Albumin(BCG) 57 26 19 22 18 17 3 105
Albumin(BCG)F+9{H 3.7498] 3.7834] 37073 3.7220] 3.7156] 3.7825]  3.7363
Albumin(BCG) =3.57 Ei4yth 87.50%| 88.37%| 87.63%| 88.40%| 89.72%| 91.67%| 88.31%
Albumin(BCP)Z 6 2 9 1 0 0 18
Albumin-3:+5{g (BCP) 32115  3.0644] 3.2407 3.1436] 0.0000] 0.0000] 3.2168
Albumin(BCP) = 3.0 Fi7EL 87.39%| 84.21%| 89.83%| 86.00%|  0.00%|  0.00%| 88.22%
1084F B P 29 20 29 19 17 3 117
Albumin-f k% 98.75%| 99.47%| 96.93%| 98.85%| 98.54%| 97.99%| 98.44%
Albumin(BCG) %z # 25 19 22 18 17 3 104
Albumin(BCG)F+9{H 3.7599] 3.7897| 3.6992] 3.7253] 3.7334] 3.7807| 3.7420
Albumin(BCG)=3.5 i 47t 89.36%| 90.55%| 86.84%| 89.06%| 89.94%| 94.52%| 89.23%
Albumin(BCP)Z 4 1 9 1 0 0 15
Albumin-35{# (BCP) 3.2931] 3.2704] 3.2078] 3.0812] 0.0000] 0.0000] 3.2360
Albumin(BCP) = 3.0 Fi7EL 92.21%| 83.33%| 86.30%| 84.62%|  0.00%|  0.00%| 88.64%
10945128 |epnsn 29 20 27 19 17 3 115
Albumin-f a2 98.63%| 99.62%| 92.75%| 98.44%| 98.11%| 99.17%| 97.42%
Albumin(BCG) %4 25 19 19 19 17 3 102
Albumin(BCG)F-+4{# 3.7957| 3.8375| 3.7486] 3.7586] 3.7705| 3.7050] 3.7818
Albumin(BCG)=3.5 54yt 82.27%| 84.48%| 81.94%| 81.88%| 83.49%| 85.00%| 82.77%
Albumin(BCP) % 4 1 8 0 0 0 13
Albumin-34{# (BCP) 35151 3.1000 35391 0.0000] 0.0000] 0.0000] 3.5262
Albumin(BCP)=3.07 Fi3Eh 93.87%| 50.00%| 92.63%|  0.00%|  0.00%|  0.00%| 92.64%
1094F5522F |Fepnd 29 20 28 18 16 3 114
Albumin-f a2 98.36%| 99.38%| 98.10%| 97.96%| 98.62%| 99.22%| 98.44%
Albumin(BCG) %4 25 19 23 18 16 3 104
Albumin(BCG)F-+4{# 3.7860] 3.8118] 3.6770] 3.7294] 3.7371] 3.6362]  3.7465
Albumin(BCG) =35 I 43 tE 82.25%| 83.65%| 76.60%| 81.01%| 82.71%| 75.59%| 81.03%
Albumin(BCP) 5z 5 1 5 0 0 0 11
Albumin-3£4{# (BCP) 3.5388] 3.1500] 3.2124] 0.0000] 0.0000] 0.0000] 3.4526
Albumin(BCP) =3.027 Fi3EE 92.69%| 66.67%| 76.06%|  0.00%|  0.00%|  0.00%| 88.18%
1094-553=F |Fern 28 20 28 18 16 3 113
Albumin-fas Lk % 95.28%| 99.38%| 97.87%| 97.94%| 98.71%| 97.69%| 97.37%
Albumin(BCG) 5 24 19 24 18 16 3 104
Albumin(BCG)-+4{# 37922  3.7901| 3.6548] 3.7349] 3.7232] 3.6740] 3.7388
Albumin(BCG) =35 I 47t 82.64%| 83.23%| 74.92%| 80.86%| 81.90%| 78.74%| 80.59%
Albumin(BCP) % 4 1 4 0 0 0 9




FEPDL S Y &

t fi—i ¢ 3¢ (Albumin)

M HE Eal L& TE B & 15 5% & =F
Albumin-Z5{# (BCP) 3.4750] 3.3250] 3.4110]  0.0000]  0.0000]  0.0000]  3.4653
Albumin(BCP) = 3.0 Fi47EL 92.27%| 100.00%| 86.21%|  0.00%|  0.00%|  0.00%| 91.70%

1094542 |FeFrs 28 20 27 18 16 4 113
Albumin-f a2 95.62%| 99.49%| 96.46%| 97.87%| 98.71%| 99.24%| 97.23%
Albumin(BCG) %28 24 19 23 18 16 4 104
Albumin(BCG)F+9{H 3.8257] 3.8598] 3.6660] 3.7725] 3.7549] 3.6343] 3.7713
Albumin(BCG)=3.5 547t 85.27%| 85.68%| 76.92%| 83.33%| 83.38%| 77.69%| 82.76%
Albumin(BCP)Z 4 1 4 0 0 0 9
Albumin-F5{# (BCP) 3.4450] 3.2800] 3.4721] 0.0000] 0.0000] 0.0000] 3.4447
Albumin(BCP) =3.027 Fi43EL 92.63%| 80.00%| 89.29%|  0.00%|  0.00%|  0.00%| 92.00%

1094F B P 29 20 28 19 17 4 117
Albumin-f L% 98.66%| 99.89%| 97.52%| 98.20%| 98.77%| 98.70%| 98.54%
Albumin(BCG) %z # 25 19 25 19 17 4 109
Albumin(BCG)F-+9{# 3.7860] 3.8141] 3.6614] 3.7324] 3.7354] 3.6521] 3.7445
Albumin(BCG) =35 i 47t 89.67%| 90.59%| 83.94%| 89.26%| 90.53%| 90.13%| 88.70%
Albumin(BCP)Z 5 1 8 0 0 0 14
Albumin-5{# (BCP) 3.4688] 3.1333] 3.4671] 0.0000] 0.0000] 0.0000] 3.4625
Albumin(BCP) = 3.0 Fi3EL 97.54%| 85.71%| 92.82%|  0.00%|  0.00%|  0.00%| 94.50%

1104565 12F |Bepnd 29 20 26 17 15 4 111
Albumin-f a2 98.16%| 99.12%| 95.46%| 94.81%| 98.36%| 99.26%| 97.32%
Albumin(BCG) %4 25 19 22 17 15 4 102
Albumin(BCG)F-+4{¢ 3.8115] 3.8078] 3.7064] 3.7493] 3.7536| 3.6284]  3.7655
Albumin(BCG) =35 547t 84.65%| 82.65%| 78.84%| 83.70%| 82.85%| 78.36%| 82.57%
Albumin(BCP) 5 4 1 4 0 0 0 9
Albumin-34{# (BCP) 35332 3.3333] 3.3861 0.0000] 0.0000] 0.0000] 3.5107
Albumin(BCP) =3.027 Fi3Eh 92.57%| 100.00%| 85.71%|  0.00%|  0.00%|  0.00%| 91.95%

it
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ip1RPDl s 49§ &R -2 F 9 9 (Albumin)

B TEH BEDL | Gk | tekbk | w2 =
1074 BeRTEL 19 68 22 9 118
Albumin-f# 25 % 99.05% 98.68% 98.68% 100.00% 98.90%
Albumin(BCG)ZZ &) 18 61 17 9 105
Albumin(BCG)F{E 3.7371 3.7380 3.6945 3.7672 3.7363
Albumin(BCG) =357 B 57EL 88.69% 88.33% 79.58% 94.37% 88.31%
Albumin(BCP) % #4 1 11 6 0 18
Albumin-3f#4{# (BCP) 3.2729 3.2121 3.0722 0.0000 3.2168
Albumin(BCP) =3.0 Fi 43tk 91.67% 87.78% 80.60% 0.00% 88.22%
1084 BrepnEx 19 66 23 9 117
Albumin-f# 25 2% 99.12% 98.67% 90.52% 100.00% 98.44%
Albumin(BCG) 5 # 19 58 18 9 104
Albumin(BCG)F{# 3.7434 3.7456 3.6753 3.8059 3.7420
Albumin(BCG) =3.5 47 89.17% 89.70% 82.85% 98.36% 89.23%
Albumin(BCP) 5 1 8 6 0 15
Albumin-3Z:#{# (BCP) 3.2614 3.2687 3.0665 0.0000 3.2360
Albumin(BCP) =3.0> Fi 43tk 87.50% 90.68% 82.43% 0.00% 88.64%
1004E51F |bFis 19 67 21 8 115
Albumin-f# 25 2% 99.07% 98.39% 74.65% 100.00% 97.42%
Albumin(BCG) 7 18 59 17 8 102
Albumin(BCG)E4{H 3.7855 3.7740 3.8054 3.8019 3.7818
Albumin(BCG) =35 47k 82.90% 82.43% 83.49% 86.54% 82.77%
Albumin(BCP) 5 # 1 8 4 0 13
Albumin-3}:{# (BCP) 3.6175 3.4953 3.1474 0.0000 3.5262
Albumin(BCP) =3.0 Fi 43tk 96.36% 92.18% 73.58% 0.00% 92.64%
1095523 |Befit 19 66 21 8 114
Albumin-f# s 22 99.05% 98.11% 94.89% 100.00% 98.44%
Albumin(BCG) 5 19 59 18 8 104
Albumin(BCG)F4{H 3.7453 3.7513 3.7298 3.7096 3.7465
Albumin(BCG) =35 47k 81.28% 81.17% 76.97% 82.69% 81.03%
Albumin(BCP) 5 1 7 3 0 11
Albumin-3f:4{# (BCP) 8.0000 3.4983 3.1304 0.0000 3.4526
Albumin(BCP) =3.0 Ei 43tk 100.00% 91.06% 73.47% 0.00% 88.18%
1094583 |BifrsL 19 65 21 8 113
Albumin-f# 75 2% 98.86% 95.69% 95.40% 98.08% 97.37%
Albumin(BCG) 5 # 19 57 20 8 104
Albumin(BCG)FH4{H 3.7458 3.7399 3.6717 3.7196 3.7388
Albumin(BCG) =357 E4EL 81.00% 81.12% 72.90% 86.27% 80.59%
Albumin(BCP) 5 # 0 8 1 0 9
Albumin-3f:4{# (BCP) 0.0000 3.4680 3.3000 0.0000 3.4653
Albumin(BCP)=3.0 B 43tk 0.00% 91.57% 100.00% 0.00% 91.70%




2 1EPD s

¥_¥ %G5 F9 39 (Albumin)

B TEH BEDL | Gk | tekbk | w2 =

109F 642 |I2rrik 19 65 21 8 113
Albumin-f 2 FE=R 99.16% 95.05% 94.47% 100.00% 97.23%
Albumin(BCG)Z#4 19 57 20 8 104
Albumin(BCG)-15{H 3.7657 3.7907| 3.7022 3.7887 3.7713
Albumin(BCG)=3.5" H47tkL 83.16% 83.57% 72.96% 90.57% 82.76%
Albumin(BCP) 5z 0 8 1 0 9
Albumin-£14{E (BCP) 0.0000 3.4489 3.1900 0.0000 3.4447
Albumin(BCP) =3.0~ 543tk 0.00% 92.28% 75.00% 0.00% 92.00%

1094 BeRTEL 19 68 22 8 117
Albumin-f 2 EE=R 99.30% 98.16% 94.54% 98.28% 98.54%
Albumin(BCG) %z # 19 61 21 8 109
Albumin(BCG)-15{8 3.7465 3.7482 3.6957] 3.7608 3.7445
Albumin(BCG)=3.57 H47th 89.07% 89.11% 81.12% 92.98% 88.70%
Albumin(BCP) 5z 2 8 4 0 14
Albumin-*£14{E (BCP) 3.6349 3.4511 3.1324 0.0000 3.4625
Albumin(BCP)=3.0 H 47tk 96.23% 96.06% 77.59% 0.00% 94.50%

110F5E1=E  |FEFTE 19 65 20 7 111
Albumin-f 2 FE=R 98.90% 96.53% 91.16% 80.39% 97.32%
Albumin(BCG) %28 19 57 19 7 102
Albumin(BCG) 5 {H 3.7731 3.7654 3.6863 3.8488 3.7655
Albumin(BCG)=3.57 H47kh 83.27% 82.42% 76.47% 87.80% 82.57%
Albumin(BCP) 578 0 8 1 0 9
Albumin-*£14{E (BCP) 0.0000 3.5138 3.3275 0.0000 3.5107
Albumin(BCP)=3.0 H47th 0.00% 91.81% 100.00% 0.00% 91.95%
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5 #PD3 ML 45_F s ¥ 4 1D

HART HH t-—aln it & FA & =B K& 2F

1074 R 29 18 27 16 16 3 109|
Hb-f & EE% 98.82%| 99.47%| 98.84%| 97.30%| 98.61%| 96.30%| 98.63%
Hb-3E5 {8 10.3953] 10.4352 10.0388] 10.0987] 10.1436] 10.2489] 10.2344
Hb>8.5g/dL > E47EE | 96.82%| 97.17%| 96.21%| 97.04%| 97.32%|  98.08%| 96.96%

1084 R 28 18 28 16 16 3 109|
Hb-f & EE% 98.52%| 99.49%| 96.41%| 99.09%| 98.11%| 96.30%| 98.24%
Hb-3E5 {8 10.4123] 10.2716] 10.0676] 10.1612] 10.2143] 10.3121] 10.2470
Hb>8.5g/dL E457EE | 96.78%[ 95.76%| 95.35%| 97.81%| 96.83%|  96.15%| 96.56%

e [CE T 28 16 23 18 16 3 104
Hb-fa & EE% 98.74%| 99.37%| 91.54%| 98.92%| 98.36%| 98.48%| 97.37%
Hb-3E5 {8 10.4027] 10.2424] 10.0515] 10.1150] 10.3345] 10.1600] 10.2580
Hb>8.5g9/dL > i 47EL | 90.98%| 91.95%| 87.95%| 87.58%| 91.49%|  90.77%| 90.18%

109455527 [Befrty 27 18 25 17 16 3 106
Hb-f & EE% 98.49%| 99.37%| 98.21%| 98.52%| 98.75%| 100.00%| 98.64%
Hb-3E5 {8 10.5775] 10.3803] 10.1761] 10.1878] 10.3632] 10.1739] 10.3712
Hb>8.50/dL E47ELE | 92.69%| 90.97%| 90.61%| 89.91%| 90.49%|  91.30%| 91.23%

10945532 |Bepi 26 18 25 17 16 3 105
Hb-f & EE% 05.43%| 98.33%| 98.10%| 98.56%| 98.89%| 97.40%| 97.45%
Hb-3EH5 {8 10.5959] 10.4391] 10.1399] 10.3163] 10.3755] 10.2600] 10.3973
Hb>8.5g0/dL E47EE | 92.35%| 91.93%| 88.51%| 90.79%| 91.67%|  92.00%| 91.18%

10945542 |Bepi 26 17 24 17 15 3 102
Hb-f & EE% 95.69%| 99.17%| 96.52%| 97.80%| 99.22%|  98.75%| 97.33%
Hb-3E5 {8 10.5305] 10.3664] 10.0896] 10.2564] 10.3085] 10.0468] 10.3310
Hb>8.59/dL E47EL | 92.09%| 90.40%| 89.77%| 90.16%| 90.35%|  87.34%| 90.70%

1094 RN 28 17 25 18 16 4 108
Hb-f & EE% 98.37%| 99.83%| 97.16%| 98.26%| 98.88%| 98.84%| 98.44%
Hb->E35{H 10.4884] 10.3183] 10.0945] 10.1809] 10.3328] 10.1270] 10.3078
Hb>8.5g/dL 47t | 97.81%| 97.06%| 95.93%| 96.47%| 96.88%|  97.65%| 97.03%

1104E5E 1% [Befriy 27 19 24 17 14 3 104
Hb-f & EE% 98.60%| 98.96%| 95.32%| 94.46%| 98.62%| 98.65%| 97.47%
Hb->E35{H 10.3850] 10.2941] 10.0083] 10.1095] 10.1318] 10.1233] 10.2125
Hb>8.5g9/dL” 5 47EL | 89.59%| 90.13%| 88.45%| 86.23%| 87.99%|  86.30%| 88.64%
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F1EPD3 A4 _ ik & -Hb

HART THH B2 ik eE b A S5 2T 2F
1074 [EIE 19 64 18 8 109
Hb-f & bR 98.87% 98.20% 99.29% 100.00% 98.63%
Hb-“F#4){E 10.2597 10.2086 10.2388 9.8469 10.2344
Hb>8.5g/dL " 5 57Eh 96.83% 97.06% 96.40% 95.45% 96.96%
1084F e 19 63 19 8 109
Hb-fig 7 3% 98.89% 98.54% 89.52% 100.00% 98.24%
Hb-“F#4){8 10.2876 10.1876 10.2146 10.5127 10.2470
Hb>8.5g/dL " 5 57Eh 96.47% 96.59% 95.12% 100.00% 96.56%
CEEFES [ 19 62 17 6 104
Hb-ff i 3% 98.86% 98.86% 73.37% 100.00% 97.37%
Hb->F+45{8 10.3084 10.2198 9.9757 10.2250 10.2580
Hb>8.5g/dL 5 5y EL 90.84% 89.75% 84.93% 93.75% 90.18%
ICEEVES G 19 62 18 7 106
Hb-fig i 1% 98.77% 98.88% 95.69% 100.00% 98.64%
Hb-"F#4){8 10.4072 10.3603 10.0950 10.4543 10.3712
Hb>8.5g/dL " 5 57Eh 91.59% 90.99% 89.00% 94.29% 91.23%
1094E 537 (i 19 61 18 7 105
Hb-fig i 1% 98.62% 96.31% 94.47% 97.14% 97.45%
Hb->5{8 10.3875 10.4411 10.1580 10.6971 10.3973
Hb>8.5g/dL " 5 57Eh 90.80% 92.11% 88.29% 94.12% 91.18%
1094E 547 (Bepri 19 59 17 7 102
Hb-fig i 1% 99.04% 95.66% 92.98% 100.00% 97.33%
Hb-"F#4){8 10.3271 10.3584 10.1524 10.5914 10.3310
Hb>8.5g/dL~ 5 5y EL 90.75% 90.48% 91.04% 94.29% 90.70%
1094E e 19 65 18 6 108
Hb-fg i L% 99.09% 98.25% 94.36% 97.30% 98.44%
Hb-F-#5){8 10.3255 10.3155 10.0361 10.6860 10.3078
Hb>8.5g/dL " 5 47Eh 97.35% 96.76% 95.22% 100.00% 97.03%
110E5E1% (s 19 60 18 7 104
Hb-fg i 1% 98.91% 97.13% 91.43% 77.78% 97.47%
Hb-15{8 10.1939 10.2659 10.0254 10.3929 10.2125
Hb>8.5g/dL " 5 47Eh 88.93% 87.97% 89.73% 92.86% 88.64%
{%*E'
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pHEPDS AT BT <1& 2 F
HAr EHE =it JLi& & 21 =) HE 2
1074 BTG <VEZ 56T A#L 5 2 3 1 1 0 11
SBENTHE < L4E 2 485 A3 357 145 294 136 162 23 1,118
SENTHERI<UE 2 FET % 1.3996] 1.3769] 0.8496] 0.7339] 0.3082] 0.0000] 0.9839
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